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Q1. Tick on the drawing of Column B that would complete the other half in Column A. ]
Column A Column B

o
A
»
=2

Which illustration tells the mirror symmetry. ( tick the box )

Q2. Fill in the blanks —
a) Where two faces of a solid meet is called its edges.

b) Front view is what you see from . (top , side, front)
c) A rectangle has_four line segments.

d) The greatest 2 digit number is .(99,10,90)




e) 1 meter = 100 centimetres
f) smallest three digit numberis . (001 , 111,100)
9) are a type of symmetry. ( mirror halves , fraction , division )
10 more than 30is .
16 added in 24 is
Length of a Pagdi worn by Sikhs is measured in_m unit.
Adding 0 and 45 gives 45 .
The base of your water bottle circle.
m) The differenceof 75 and 34 is _
Where the two faces of a solid shape meet is called
The place value of 5in6538is
10 lessthan 34is____.
Opposite sides of a rectangle are in length .
There are_____hours in a day.
Thereare ____days in a normal year.
Thereare _ daysinaleap year .
Opposite sides of a rectangle are in length .

There are days in a leap year .

Q3 Write the numbers followed by given expanded form .

a) 800+ 50 +4 =
b) 500 + 50 + 5 =
c) 100+ 10 + 4 =
d) 200+ 70 + 2 =
e) 900+ 00 + 7 =
fy 700+ 80 + 1 =
g) 400+ 30 + 6 =

Q4 . Counting by next 50°s up to 4 steps.




50,

Q 5. Counting by 10 ‘s backward up to 4 steps.
a) 200,

380,

242,

770,

665,

267

Q6. Solve the sum using column method addition .

22 + 33 52 + 11

Q7. Convert the given measurement in centimeter (cm.)

a) bm = cm

b) 81lm = cm




C) 26m cm

d) 231m = cm

e) 60m = cm

f) 32m = cm

Q8. Convert the given measurement in meter (m.)

a) 600cm = m

5700 cm

4500 cm

2300 cm

5500 cm m

35000 cm = m

Q9. Identify the given shapes and write their name , numbers of edges and vertices .

Name

Edges

Vertex (corners)

Cuboid

Cube

Cone

Sphere

Cylinder

Q10 Add the following numbers .

473

+ 788




Q11 .Subtract the following given sums below —
31711

b) 6 c) 6

+ 7 4

|
.
\

98
69

8

Q12 Subtract the given numbers and check the answer .

Solution Check the Answer Solution Check the Answer

Q13 . Solve the given word problem :

a) In afactory, there are two colour of t- shirts are listed below. Answer the question given below on the
basis of it.

Colour Big Small
White 350 150
Blue 240 320

1) How many blue T- shirts are there ? ii) How many white T- shirts are there ?

iii) Which type of T-shirts are more , and how many ?




b) Kavya skips counting by 50’s and started counting backward from 600 to 350. Write the numbers she
counted.

Sol :- 550 , 500, 450, 400.

¢) Raj jumps 5 steps forward starting from 100 till 130. Write the numbers he jumped.

Sol :- 105,110,115, 120, 125.
d) There are 442 boys and 323 girls in a school. How many students are there in all?

e)

f) Madhu bought 489 toffees on her birthday. She distributed 367 toffees. How many toffees are left with
him?

Q13 . How many triangles are there ?

Q14 . Recognise the correct time .
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